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4T ) T e A A L5 MM B

Q KA RT LA LRMAE T, 4o B I #5 LR (R T 2R);
Q WHBEART LA KE,

Q WHBEARTL AT RBREA;

Q WHERARFLATENEFX

YT B A AR 45 M P T LR

FHAE (B ALt DA EAE ) % e as itk



18] 5 7 SRR 4L 2R A o T 33 35 AR K B MR T 48 & A& T AL A i 2=
VAAEAN 4G B R A R, :&fm@ V3FY Fa )X X 8] £ F 4G 454 T F).
4T ) T e A A L5 MM B

Q KA RT LA LRMAE T, 4o B I #5 LR (R T 2R);
Q WHBEART LA KE,

Q WHBEARTL AT RBREA;

Q WHERARFLATENEFX

o fTAR o A R 42 A M AR
4R 2 #5385 Chow Test.

FHAE (B ALt bk A £ % e as itk



4R 5 AT 4G B3

4F 2 AR 69 B
Q HHAMMESHH, Uy ~ N(0,0%), EEABFBA 2L
Q HKFHRUFFI L F A

F AR (E KRG EHIEAER) % 749 )3 % i3



4R 5 AT 4G B3

4F 2 AR 69 B
Q HHAMMESHH, Uy ~ N(0,0%), EEABFBA 2L
Q HKFHRUFFI L F A

4R £ & £ 3 (Chow Test) & 7 Bk
(AT B H ) 5 R2Bn = ny + ng)

Q AAZEHIEE ) FEKEF T A RSSp.df = ny +np — K, KASHAN
#.

FHHE (XA EHEAFR) % U= ag it




4R 5 AT 4G B3

4F 2 AR 69 B
Q HHAMMESHH, Uy ~ N(0,0%), EEABFBA 2L
Q HKFHRUFFI L F A

4R £ & £ 3 (Chow Test) & 7 Bk
(AT B H ) 5 R2Bn = ny + ng)
QO RAXEHIEE ) IFEKREFH A RSSpdf = n1 +np — K, KASHA
3.

Q 45 R A F B REHIBEME )2 135 5R £ F FF2RSSyr = RSS; + RSS,,
df =ny+ny —2K.

FHHE (XA EHEAFR) % U= ag it




4R 5 AT 4G B3

4F 2 AR 69 B
Q HHAMMESHH, Uy ~ N(0,0%), EEABFBA 2L
Q HKFHRUFFI L F A

4% 2 & #-35 (Chow Test) 49 4 3
(AT B H ) 5 R2Bn = ny + ng)

Q KA TEHMIER I (FRNKREF FHARSSR.Af =ni +ng — K, KA HRHA
#.

Q 47 R ARG BB EAEME )2 135K £ FH5FRSSyr = RSS; + RSS,,
df =ny+ny —2K.

Q FALMIEE RSSrE RSSyr%it L £5 NA

r_ (RSSr — RSSur) /K
B RSSUR/ (n1 4+ ng — 2K)

~ F(K,ny +ny —2K).(nZ#%K)

F R (FRGIHH % % e )ag it bt




4R 2 AT 0 AL

4% ]| Chow #6300t E 203 &
Q PRIt EHH A SES A, G REZ R KA 4 RSB,
Q KB MEEAT 8] 7 £ R R ZAMBEIRE 240 T8
Q LAINMAELERT, ik ) B & o T AIE A8 2 o TRt R & AL,
Q FEFARTHRE WRELT EAL, TR L7 EME.

FHAE (ALt DA EAE ) % e as itk



1970-1995-F £ B /N AT L BN A/ N ALE S AR,

AR B AR
i EY 5 AT LBEMADPI (X)X 6 %54 £ .

FHIE (F kit BA A ) % A E% IR



1970-1995-F £ B /N AT L BN A/ N ALE S AR,

AR B AT

i EY 5 AT LBEMADPI (X)X 6 %54 £ .
A AR

Y=M+X2X+U

ZiRa3L:

o ) 2 FR4i% & 47 16] (Marginal Propensity to Save).

FHIE (F kst BA AR ) % A E% IR




1970-1995-F £ B /N AT L BN A/ N ALE S AR,

AR B AT

fEIHEEY 5 AT LBEMADPI (X)Z A6 R X %,

A AR

Y=M+X2X+U

22543

o ) 2 FR4i% & 47 16] (Marginal Propensity to Save).

B %

BAERT 1) 55 AR K, 4o RA LA S T F BT R B A s

FHAE (B ALt DA S ) % e stk




1970-1995-F £ B /N AT L BN A/ N ALE S AR,

R B AT

fEIHEEY 5 AT LBEMADPI (X)Z A6 R X %,
RAER:

Y=M+X2X+U

22543

o ) 2 FR4i% & 47 16] (Marginal Propensity to Save).

B X

BAERT 1) 55 AR K, 4o RA LA S T F BT R B A s
T E AT

19824, £ B 2 7 K % B SR T K b 53X 2)9.7%, 2 19484 K 49 5% S 4.
oW BAE

1970-1981, 1982-1995. #%4% sk /& :Table 8.9.

FHAE (B ALt B EAE ) % e as itk
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